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LO: I can identify and find equivalent fractions – Extension (Diving Deeper)


1. Do you agree or disagree? Explain your answer.

[image: image1.png]Russell says 2 > 2 because 8> 4.




2. Which one is closer to 1? Explain how you know.

[image: image2.png]23
22




3. Chiz and Caroline both had two sandwiches of identical size. 

[image: image3.png]Chizate 17 of his sandwiches.

Caroline ate 2 of her sandwiches.

Fred said Caroline ate more because 5 is the biggest number.
Tammy said Chiz ate more because she ate a whole sandwich.




Explain how you know that Fred as well as Tammy are wrong.

